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Guess Paper – 2010

Class – IX

Subject – Maths   

Time Allowed: 3 Hours
Maximum Marks: 80.

· All the questions are compulsory

· Write the same serial number of the question as given in the question paper.

· Figures, wherever required, should be drawn neatly.

· This question paper has 3 sections- A, B and C .

SECTION A

(3 marks each)

1. ABCD is a rhombus. Show that diagonal AC bisects ( A as well as ( C and diagonal BD bisects ( B as well as (D.

2. Show that the bisectors of angles of a parallelogram from a rectangle.  

3. ABCD is a trapezium in which AB (( DC, BD is a diagonal and E is the mid point of AD. A line is drawn through E parallel to AB intersecting BC at F. Show that F is the mid(point of BC.

4. A farmer was having a field in the form of a parallelogram PQRS. She took any point A on RS and joined it to points P and Q. In how many parts the field is divided? What are the shapes of these parts? The farmer wants to sow wheat and pulses in equal portions of the field separately. How should she do it? 

5. Parallelogram ABCD and rectangle ABEF are on the same base AB and have equal areas. Show that the perimeter of the parallelogram is greater than that of the rectangle.

6. Arun scored 36 marks in English, 44 marks in Hindi, 75 marks in Mathematics and x marks in science. If he has scored an average of 50 marks, find the value of x.

7. Two coins are tossed simultaneously by 300 times, and we get Two heads: 135, one head: 63, No head: 102. Find the probability of occurrence of each of these events.

8. The lengths of two parallel chords of a circle are 6 cm and 8 cm. If the smaller chord is at distance 4 cm from the center, what is he distance of the other chord from the centre?

9. Two circles intersect at two points B and C. Through B, two line segments ABD and PBQ are drawn t intersect the circles A, D and P, Q respectively. Prove that 
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ACP = 
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QCD. 
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10. Construct an equilateral triangle, given its side and justify the construction.

11. Construct a triangle ABC, in which 
[image: image3.wmf]Ð

D = 60o, 
[image: image4.wmf]Ð

C = 45o and AB + BC + CA = 11cm. Write steps of construction.

12. Construct a triangle PQR in which QR = 6 cm, 
[image: image5.wmf]Ð

Q = 60o and PR – PQ = 2 cm and justify the construction.

13. A circular park of radius 20 cm is situated in a colony. Three girls Amy, Sonia and carol are sitting at equal distance on its boundary each having a toy telephone in her hands to talk each other. Find the length of the string of each phone.

14. A, B, C and D are four points on a circle. AC and BD intersect at a point E such that 
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BEC = 130o and 
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ECD = 20o. Find 
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BAC.


15. If the non- parallel sides of a trapezium are equal, prove that it is cyclic.

16. An insurance company selected 2000 drivers at random in a particular city to find a relationship between age and accidents. The data obtained are given in the following table. Find the probabilities of the following events for a driver chosen at random from the city: (i) being 18 – 29 years of age and having exactly 3 accidents in one year. (ii) being 30 – 50 years of age and having one or more accidents in a year. (iii) having no accidents in one year.

	Age of drivers


	Accidents in one year

	
	0
	1
	2
	3
	Over 3

	18- 29

30 – 50

Above 50
	440

505

360
	160

125

45
	110

60

35
	61

22

15
	35

18

9


17. If a triangle and a parallelogram are on the same base and between the same parallels, then prove that the area of the triangle is equal to half the area of the parallelogram.

18. ABC is a triangle right angled at C. A line through the mid-point M of hypotenuse AB and parallel to BC intersects AC at D. Show that (i) D is the midpoint of AC. (ii) MD
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AC.                               (iii) CM = MA = 
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2

AB.

19. Prove that the line segment joining the mid-point of two sides of a triangle is parallel to the third side.

20. Diagonals AC and BD of quadrilateral ABCD intersect at O such that OB = OD. If AB = CD, then show that: (i) ar (DOC) = ar (AOB). (ii) ar (DCB) = ar (ACB). (iii) DA || CB or ABCD is a parallelogram.

	Number of balls
	Team A
	Team B

	0 - 6

6 - 12

12 - 18

18 - 24

24 - 30

30 - 36

36 - 42

42 - 48

48 - 54

54 - 60
	2

1

8

9

4

5

6

10

6

2
	5

6

2

10

5

6

3

4

8

10


21. The runs scored by two teams A and B on the first 60 balls in a cricket match is given below: Represent the data of both teams on the same graph by frequency polygon.
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